niBfWvcibK mij Dkb %Zixi iimigibK Dev™vb mgr ibaizc|

th mKj imgibK Dev vibi ciqiRb Zii ciigib (ciZ 1000 iyt cubi RbY)

pugK bs | iimigibK Dev b Devvtbi vmigibK mstKZ cigy

1 cUnkaqvg niBIWvtRb dmidu KH,PO, 270 Mg
2 cUumayg bvBIUU KNO; 580 Mig
3 K'vjimaug bvBiUU Ca (NO3),. 4H,0 1000 Mg
4 g Witbimavg mij idu MgSo,.7H,0 510 Mg
5 BWIUG Awgib EDTA Iron 80 Mg
6 gWaubR myjdu MnS0..4H,0 6.10 Mg
7 elnkK Gimw H3;BO; 1.80 Mg
8 Kevi mijidu CuSO, 5H,0 0.40 Mg
9 A'vgibqvg gij etUw (NHg4)sMo7 O244H,0 0.38 Mg
10 IRsK mijidU ZnS0,. 7H,0 0.44 Mg

Stock Solution A kZix: 1000 Mig K'vjimqvg biBiUU Ges 80 Mig EDTA Iron K ciigic Kii 10 ijt
cubiZ “exf¥ Kti Stock Solution A $Zix KiiZ nie]

Stock Solution B #Zix : cUnkaqig niBIWRb dmidU 270 Mg, cUnmqig biBiUU 580 Mg, g Mitbimaig
mijidU 510 Mg, gwawbR mijidU 6.10 Mg, eliK GimW 1.80 Mg, Kcvi mijidu 0.40 Mg, A'vgibgig
gijeiwu 0.38 Mig, IRsK mijidU 0.44 Mig D3 ivmigibK “e” _1jtK GK mii_ 10 ijWi cwmbizZ “exfy Kii
Stock Solution B #Zix KifZ nie|

nBiWicibK KvgPiii Rb™ iimigibK cuBBi b nijt

Gm Gd migpUidK

tgr. kidKg Bmjg

32/1, nwiLvgy tiw, THF'Qr c-WRv, XiKi-1203|
tgieiBj bvavi: 01731798993

[lewiZ Z_" Rvbvi Rb” meiR 1efiM, D™"ibZE MielYy tK>™, 1eGAIiAIB, Rgt ecy, MRicy G thiMithiM Kiivi
Rb” Abjava Kiv niji]]

thithviMi VKb

1] G 1K Gg fmijg fiRv gijK, camb "eAubK KgKzy, tgieBj bs- 01711900256
2| W. tgit Ami™§agib, "eAubK KgK2zy, igveBj bs- 01718131545



